

- $\frac{1}{5} + \frac{3}{5} =$
- $\frac{2}{7} + \frac{1}{7} - \frac{3}{7} =$
- $1 + \frac{1}{2} =$
- $(3 - \frac{4}{5}) + 1 =$
- $1 - \frac{1}{2} + 3 =$
- $\frac{1}{2} + \frac{1}{3} =$
- $\frac{1}{3} - \frac{1}{2} =$
- $\frac{1}{2} - 1 =$
- $-\frac{1}{3} + 4 =$
- $7 - \frac{7}{11} =$
- $\frac{1+3}{5} - \frac{2-1}{5} =$
- $\frac{3}{20} + \frac{11}{60} =$
- $\frac{7}{45} - \frac{3}{5} =$
- $-1 - \frac{1}{2} =$
- $-1 + \frac{1}{3} =$
- $\frac{1}{9} + \frac{3}{9} + \frac{5}{9} =$
- $3 + \frac{1}{2} - 1 =$
- $(\frac{1}{2} + \frac{1}{3}) - (\frac{1}{2} - \frac{1}{3}) =$
- $(1:2) + (1:3) =$
- $\frac{2^3}{4} + \frac{3^2}{4} =$
- $\frac{7}{77} + \frac{1}{11} =$
- $2 + \frac{1}{3} =$

a = 3 ve b = 5 ise

- $\frac{1}{a} + \frac{1}{b} =$
- $a + 2.b =$
- $1 - \frac{1}{a} =$
- $\frac{a}{b} + \frac{b}{a} =$
- $a + b =$
- $a^2 - b =$
- $\frac{a}{3} + \frac{b}{5} =$
- $\frac{a+1}{a} - \frac{b+1}{b} =$
- $7 - a =$
- $3 + b =$
- $3a - \frac{1}{b} =$
- $a - b + b - a =$
- $a^2 + b^2 =$
- $a.a - b.b =$
- $a + \frac{a}{b+1} =$
- $\frac{a-1}{a+1} + \frac{b-1}{b+1} =$
- $1 + a =$
- $1 - b =$
- $b - 5 =$
- $(b-5) \cdot (\frac{3}{17} + \frac{8}{11}) =$
- $(a+2) \cdot (b-5) =$
- $1 + a + a^2 =$
- $b - b^2 =$
- $-a + b =$
- $a - b + 2 =$
- $3 : a + 5 : b =$
- $7 - \frac{3}{a} =$
- $1 + a - 1 =$
- $a.b - b.a =$
- $\frac{a^2}{a} + \frac{b^2}{b} =$
- $b - b =$
- $a + 0 + b =$
- $a - a.b =$